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QUESTION 1

When you manually create a binding such as an attribute value binding, what name would you give to the binding?
(Choose the best answer.)

A. a name that reflects the Ul component to which it is bound

B. the page name suffixed with the Ul component name to which it is bound
C. the page name suffixed with the data control name

D. the name of the data control attribute to which the binding refers

E. an EL (Expression Language) of the form #{bindmgs value}

Correct Answer: B

QUESTION 2

Which two statements are true about the Key Exists validator? (Choose two.)

A. it always issues a select to the database to ensure all data is up to date.

B. it first checks the cache for match and then goes to the database only if necessary.

C. it cannot validate any data changes that happened in the current transaction that have not yet been committed to the
database.

D. it can validate any data changes that happened in the current transaction that have not yet been committed to the
database.

E. it can be used only with attributes that are defined as primary keys in the database.

Correct Answer: BD

QUESTION 3

How are ADF components shared among applications? (Choose the best answer.)

A. by using a source control system to share components

B. by selecting the Shared Library check box when adding libraries and JARs to a project
C. by creating shared application modules and ensuring all developers use them

D. by defining a custom JAR file and sharing it in a source control system

E. by creating an ADF Library of components and deploying it to a shared location

Correct Answer: E
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QUESTION 4

Which two statements describe the characteristics of an entity object? (Choose two.)
A. An entity object represents a cache for records retrieved from the database.

B. An entity object includes an ORDER clause to allow you to order the data in it.

C. An entity object includes a WHERE clause to allow you to shape the data in it.

D. Every column in a database table must be represented as an entity object attribute.
E. An entity object definition is described in XML.

Correct Answer: AD

QUESTION 5

Which option represents the source file(s) that are typically created for you? (Choose the best answer.)
A. EmployeesView.xml

B. EmployeesViewlmpljava

C. EmployeesViewRowlmpl java

D. EmployeesView.sql

E. EmployeesView.xml and EmployeesViewlmpljava

Correct Answer: A
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